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Directions Q. No.1-4:- Choose the opposite of the given word out of the four gwen options:-

1.

Tacitumn
~A) Talkative B) Arrogant C)_Respectful _ D) Trrte
A) Careful B) Heedless 'C) Friendly D) Mellow
- Continual T P
A) Contmuous _ _B) Cor_rosive - C) Spo_radi_c _ D) Certaln
Emollient e : L
A) Fetid B) Cruel - C) Equrvocal : D) Irntatmg

Directions Q. No.5-7 :- Choose the correct preposrtlon, out of the four grven optlons to be ﬁlled
in the blanks of the following sentences:-. ' .

5.

Sachm was always alive -~ “the ground condrttons e '
A) to i B) about C) for .- : D) of
- Most of the people in rural Indra lead a mlserable exrstence that has nothmg to smg and
“dance | . S L : :
_-A) upon S B) about j_- C) on .- D) under _

L Shrvanand 8 abhorrence fanatrclsm is known to all

A)wrth N B)about R C)of . | D)m _

_-Directtons Q No.8-10 :- In the followmg sentences four opttons are grven as the meanmgs or
the underlined idioms/ phrases . Choose the correct optlon wmch best expresses the meamng of o
. the underhned idionV phrase. = - ¥ L
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15.

He stirred up a homet’s nest when he advocated the wrdow—remamage SRR,
. A) thrilled the people -~ = - S R i

" B) cautioned the people .' 3
- C) frightened the people - : La

- D) excrted the hostrhty of a large number of people _

oA few days before hrs death he rnade a clean breast of everytbmg connected wrth that
- affair. - . Sk
A) eonfessed wrthout reserve B) cnt1crzed others C) alerted ' D) blamed others S

: _'He made great claims for h1s dlscovery, but 1t turned out to be amare’s nest e
o A) the secret of his drscovery B) a delusron C) a sur_prrse D) cause of success B

‘Gobar gas contams malnly = RE : g : g
- A) methane i B) carbon drox1de S C) butane D) carbon monoxrde

If father has blood group A and mother has blood group O then wh1ch of the follcwmg
~‘blood groups may be found in therr son'? .

M0 BB C)AB e D)B ABorO
'.':Nrght BImdness is caused by the deﬁctency of - R R RS
A) VltammA - B) VltammB C) Vrtamrn C S D) Vi_t_arni_n_D : .' i
'Dendrology is assocrated w1th . S o
A)worms - B) ﬂcwers '_ s 'C) rOots ERERR ;'_ D) trees =
_Banda Singh Bahadur was executed by the orders of whrch of the followrng Emperors’?

‘A) Aurangzeb -~ B) _Bahadu_r_ Shah - C) Farrukh Siyar . D) Jahandar Shah
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Which of the following Mughal Emperor’s tomb is outside India? SRR T
Ayl ahangrr B) Akbar C) Shah Jahan D) Aurangzeb

Who among the followmg is known as the ‘Herome of 1942 Quit India Movement‘?
A) Dr. Annie Besant B) Suchitra Knplam C) Aruna Asaf Ali D) Sarojini Naidu

Who introduced the system of Civil Services? SN
A) Warren Hastmgs B) Lord Dalhousre O Lord Hardmge D) William Bentick

Who proposed the Preamble before the Draftmg Commrttee of the Constttutron'?
A) Jawahar Lal Nehru : B) B. R Ambedkar OB N Rau D) Mahatma Gandht

Fundamental Duttes were mcorporated in the Iudlan Constrtutron in

j'-_"A) 1971 ‘B)1972 . 01975 . D)1976 |
) NS
LAY WTO _' B World Economic Forum e __C)__SAAR_C_ D)EU

By which of the followmg orgamzatlon is ‘Global Compet1t1veness Report released‘?

'fWhrchofthefollowmglsanmdtrecttax" B TR O e R
A Corporatron tax B) Caprtal gains tax - C) Excrse duty o .D_) Wealth tax

_ .Who was the first Indran Govemor of the RBI? & RS
- A)CD Deshmukh B) 3 Mukherjee : _' ) Sachmdra Ray D) None of above

The food for work programme was subsumed in -

~ A)IRDP - 'B)MGNREGS Q)] RLEGP . DRY
".-:Whrch ofthese are mcknamed ‘Bretton _Woods Twms '.
 LLIDA - 2.IMF. ~ 3BRD 4.WTO .

"'-'A) landd B)2and4 C)3 and4 S __'D)'z_and_.3_ o
 National Scxence Day is celebrated i 1_n Indra on o Lo )
- ‘A)February 28 .~ B)May 1l L) May 17 : 35_D) June 23

: :The world observed the ‘World Blood Donor Day’ on Wthh of the followmg days wrth - o
~ its theme of the year — Give the Gift of Llfe Donate Blood’? -'

A) June 10 B)Junel4 C)June20 D) June 7
' Which of the followmg teams did win the Iram Cup for 2013 2014 R
A) Rest of India . B) Mumbar S C) Delhr s ; D) Kamataka -

- '.'Wlnch of the foliowmg cities has bagged the Best Hentage Crty award for2012-13
A) Jatpur Dl B) Tlrupaty C) Udatpur i D)Hyderabad '

-"'What is the rank of Indra in the Economrc Freedom Index 2014 accordlng to Hentage LS
R Foundanon_ and the Wall StreetJomnaI i R R
SoooMet. o Bust C) 120"‘ D) 125‘*‘ S

31 “Crime’ is related to ‘Police’ in the same wayas‘Flood’rs related to L
o A)R_a_m R B) RJver C) Dam D)Reservorr

_Choose the word from the glven altematlves that shows the same relatronshrp as 1s found B
between the two words to the nght of the srgn R R _ ERE

‘Oasis : Desert ‘7 Sea RESEREE

A) Island By Penmsula '- C) Backwaters g A D) Cli_t‘f N
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Three of the following words-form a group, while one does not belong to the group. Find

out that word.
A) Intestmes B) Eyes C) Hands D) Ears

In the followmg, three out of the four alternatrves have same relatronshrp You have to

choose the one which does not belong to the group. =« -
A)43 B)53 R C)63 R D)73

In a certain code language,' ‘PRISM’ is written as ‘OSHTL’ and ‘RUBLE’ is written as
‘QVAMD’. How will ‘WHORL’ be written in that same code? o
A) XIPSM B)VGNQK - CUINSK D)VINSK

In cenam code language pul ta nop’ means ‘frurt is good’ ‘nop ko tu‘ means ‘tree is
tall’ and ‘pul ho sop means eat good food’. Which of the foliowmg means ‘Ermt in that

“language? o _ R
~A)pul . B) ta : C)nop D)Datamadequate

Drrectmns Q. No 37 to 39: Read the pattern of words/numbers and ﬁnd the mlssmg term from
the gwen altematwes : : “ i o _

37,
38.
39,

40,
41,

4.

43,

AAZ, CEY, BIX, GOW, ?, S R
AW B)IAV . QIUV . D)WV
561,532,235,2 o oo
A RS 0T --D)_2_45_-'.-_

1132, 156, 182, 210, 7

A230 B)240 C)235 D)245

i'A postman started from the post office and walked 7 km North to reaoh Mr Smgh’

house. He took a left furn and walked 4 km to Mr, Kumar’s house. He took a nght tum

“ ‘from Mr. Kumar’s house and walked 3 km to reach Mr. Sharma’s house. What is the = :
length of the shortest distance between Mr. Sharma’s house and Mr. Singh’s house? -~
;A)7km - B)4km C)Skm 3- D)6km R

If ‘P + Q’ means that P is the brother of Q, P Q’ means that P is the mother of Q and

‘P x Q’ means that P is the srster of Q. Whrch of the followmg means that M is the S

- maternat-uncle of R? .
-_-A)M‘R__+K__ : B)M+K R C)M+KxQ D)Noneofthese

. Neelam who is Rohlt’s daughter says to Indu “Your mother Reeta is the young_er s1ster =
- of my father, who is the third child of Sohanji.” How is Sohanji related to Indu? o -
A) Mat_em_a_l un_cle _ _B) F _at_h_er_ Eare C) Grandfather D) Father in- law PR

In the followmg series, some letters are mrssrng wh:ch are grven in that order as one of i

- _the alternatives below it, Choose the correet altematrve
‘c—bba—cab—ac—ab—ac -

Ayboach - B)babec < Cabebe D) acb_eB




Directions Q.No.44 to 46: Study the following information to answer the questions given below:

44,

48,

50

(i) Eight persons E, F, G H I J, K and L are seated around a square table — two on
each side. -
(i) There are three lady members and they are not seated next to each other

‘(iii) Jisbetween L and F.

(iv) Gisbetween Iand F. SEELE AR

(v) H, alady member, is second to the left of J _
(vi) F, amale member, is seated opposite to E, a lady member R
(vu) There is a lady member between F andl, - U0 :

Who among the followmg are the three }ady members‘?

 AEHmdJ - B)EGad]  OGHmdl  DHEmdG
45 '-__Who among the followmg is seated betweenEandH" _ s '

' A B)J '_ SRS C)K D) cannot be determined . ..
“How manypersons are seated betweenKand F? R SR LR
A)One . B)Two. . OThee . D)Noncofthese

- How many trrangles are there in the followmg ﬁgure‘7 o

*A)17 s T 0)19 D)21
- The ratio of Raju and Prateek’s age is 3.5 and sum of thelr ages is 80 years The ratlo of
.. their ages after 10 years will be R . S
oAy 23 Bz SN C)32 o : D)35
_"Two posmons of a dlce are shown below When there are two dots at the bottom the
: -'::___"number ofdots at the top wxll be el S s

I.@ /e .:: ’ ‘ ‘@ :
o e )

::'A)z B3 oS D)6 | | |
‘In the foliowmg dlagram tnangle deptcts the vrllages (V), the square deplcts the : _: o
i _':unemployed women (UW) and the c;rcle deptets the educated women (EW) o

_'Educat_ed _uheranOYed women in the viii‘age.a_re represented by Tl
AE . BD - . CEadF . .- DF
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59,
-~ 60.
I
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64
65.

66.

The centre of gravity of a hemisphere of radius ‘r’ from its base measured along vertical
radius is '

A) 4i/3 B) 3172 - 0 38 . D)y47 .

Ina machme the ratio in between output and input is known as o

A) Efﬁcnency B) Mechameal advantage C) Velocity ratio - D) Leverage
Compressmn members are generally called an R

A) Struts B) Ties C) Purlins ... .. . D)none of the above
The theoretical velocity of jet at vena contracta is S | S

A)2gh B2l . OVah . DHEg

In a free vortex velocrty s _ - S

A) decreases with radius = - .. ... - B)increases with radius

C) is constant S T AT D) none of the above

. In an open channel ﬂow, the discharge correspondmg to critlcal depth is :
A Mlmmum R B) Maxrmum . C) Zeio -:- i D) Average _

A wire can be broken by applying a load of 20 kg welght T he force requ1red fo break the
" wire of twice the diameteris

A) 20_kg_w_e1ght . B) 5 kg weight _ C) 50 kg welght . D) 160 kg we1ght
‘The deforruation per umt length is called S . : TR
: 'A) tensile stress : B) compresswe stress C) she_ar_stress D) st_rail_l _
_ The strength ofa beam sectlon depends upon : SN
-~ A) its sectional area - .- B)its sectxonal modulus DR
~ C) distance of its base from N. A _ D) 1ts _]e_ngth G
'The shear stress onprmmpal plane is _' I '- .'j " AR R
A Max1mum S B) Mmunum o C) Zero R D) none ofthe above _
‘The survey, in WhICh the curvature of carth is 1gnored is called as o g -_:
.-A) Plane survey : B) Geodenc survey C) Geologmal survey D) Aenal survey
As per Indian Standard the length of one lmk in 30m chain should be -: Sl '_
" A)20cm e B)300m : C)_40cm__.'____- D) IOCm L
'Traversmgls generallydoneby St D L
A)chain 0 R - B) compass or theodohte

) plane table Ll 5 e D) All ofihe above arecorrect
_ :Thevarlatlon in magnetlc deelmatlonls termed as : 0 B RO MBS
__A) Dlumal vanatlon B) Solar variation . C) | Lunar varlatron ';D)_none of the above - .. -
In brick masonry the frog ofthe brick is generally kept on R
' A) top face - B) bottom face o C) exposed_face_ D) interior face
- Fathme:s alsocalled A ' ' _.: o
S A) chkllme L B) Hydrauhe l1me : C) Slaked hme D) White lime
67. '-Volume ofl bag ofcement welglung 50 kg is . P '_ ._ o g Caniin
s cA)3d4cum _B)__O_(_)34cum_'_' ' C)IOScum - -D)0.020cum - -
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85.

The joints provided in wooden floor are § _
A) Tongue and groove B) Buit C) Dove tail D) Tee joints

Rusting can be prevented by applying coating of '
A)}Redlead B) Whitelead ~ C)Zincoxide . D) Bitumen

Dog—leggedstalrsare TR S
A) Stratght stair . B) Quarter turn stalr C_) _H__alf t_um_ stair D) Three fourth turn stair

“The effectlve size of a soil is

A)Dyp o B)Dp | C) Dso oo D)Dgo .

When the plastxcity index of a soil is zero, the soﬂ is

o Aycly - B)sit 0 Osand D).S_i_‘__ty. S'?md .
S A) cm : B) gm/cm RREEE c) cm/sec L : }D) .gmjcmz RS

The dtmenstons of coefﬁczent of permeablhty are

= Fioatmgfoundaﬂonxsatypeof : S '_ R T
oo A) Well foundatnon B) Raﬁ foundatlon ; C_) Pile _fou_n_dation_ i D)_ none of the above
" The hetght ofcaplllaxy rise is maximum m R A
_A) fine gravel . B) co!lotds L C) salt P _-'-D) ﬁne sand o
: 'Foundatrons for bu1ld1ngs on sandy soﬂs must have a depth of atieast : - |
: A)Olm BRI B)Osm C)OStoIOm o D)2t05m
. -.-The number ofplles requlred to support acqumn is : N

: .The stlffness method in structura! analys1s is also known as .; g SRR
A) Unit load method ..~~~ 0 B) Consistent deformanon method
Q) Force method o D) Dlsplacement method

:'As per. Indlan Roads Congress the slope of earth in cuttmg should be -

Mz B Ol D3
Whlch test is performed for qulck determmatlon of the quakty of subgrade soﬂ‘? |

A) Stnppmg e B) Atterberg l:mlts 0 Shear strength tests D) CBR -'

Genera]ly, the thlckness of asphaltlc concrete adopted is

A)zem . B)3em C)4cm D)Scm

_:Thexdeal fonnofcurveforthesumnntcurvels A A
. A) Splral o B) Parabola o _ C) C_ircu_Iar R ‘D) none of the above .- "

An Enoscope is used for measunng

A)Running speed oo ' B) Tlme mean speed

| 0 SPOt speed PR S -"-':.D) Overa}lspeed S

The size ofa butt weld is specnﬁed by ¥ Do R
A) Throat thickness -~ @~ '_ ~-B) Effectlve throat thlckness j SRR

) Thickness of thlckest part 301ned '.'D) none of the above - L

The T-beam bridge is generally constructed as 'ﬁ:' .

A) Deck bridge  B) Through bndge C) Semt—throagh bndge D) none of the above R
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96.
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One cubic meter of mild steel weighs about
A) 1000 kg B) 3625 kg C) 7850 kg D) 12560 kg

Disinfection of water is done by
A) Filtration B) Passing chlorine  C) Ozone D) Alum

*The best coagulant for removing the colour of water is

A) Lime B) Copper sulphate - C) Iron sulphate | D).. Alum -

The first stage in water treatmentis - ool G
A) Filtration B) Disinfection .- C) Sedimentation . D) Coagul_ation & mixing

The sub surface water obtained under pressure is generally known as - -
A) Open well B) 'I‘ube well _ C) Infiltration weli_ D) Artesum well

pH value of fresh sewage is expected to be .

*.The gas that is ma_.iﬁly ;esponsible_fo; explosionin sewersis .~ o .
-A)Ammonia .-B)Methane .-~ ~C)Oxygen . ... _D)_ C_arbom_npl_l_oxide o

Desalination is usually done for

o A) Well water s 5 - B) Lake water.. - '. C) River water, | D) Sea water

To avmd correction for capillary action in manometers used for measurmg pressures,

- minimum diameter of the tube should be

 M6mm - B2Smm o1 10mm o D)SOmm -
The a approxnnate WeLght of abnck should be SRR .
SA)25kg o B)dSkg 05 kg L __D):s_.__z___k_g
Ifa glass is made of pure sﬂ1ca, then 1t willbe L T
. A) Insoluble in water ORI B) Completely soluble in water '
-C) Partlally solubie in watex e Sl D) AIl the above are wrong .
_ .-'The nnpure form of i iron, contammg carbon in between 2 010 4.5% i is known as TREES " :
g A) Stainless steeI B) Wrought iron . C)Steel . D) CaSt iron . L
g _Whﬁe ﬁndmg beanng capaczty of the SOll by bearmg plate method the 31ze of the steel L
.__-;pIateusedshouldbe : ST
:f'A)30cmx30cm B) Imx lm o C)60cmx60cm D)45 cmx45 cm i

99,

. As per IRC, the camber on cement concrete roads shouldbe = L
_-_A)1m60t072 Sk B)11n45t060 : C)11n20t024 D)11n12t016
100 -Asper[RC themaxnnummdthofavehncleshouldbe _ S T
0 Am T B2m O38m  Dpisa

L mokiokokdokok kA RE
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